Ciiketsg =)

S 7 FE KW REEFRERKREFAER No.2)
FHET4 - INvE S PT
FEAHE & 4 B (B5f 74 8 H2T7H)
G & B % 50 £K)
. miz | HEOLD MR ikt TEERA | =haaFay | 4xviay | mmmes
L O R = [ me | m= | me | Gafema)
FIR P 9P P I P I . wE | #E | E | E AH
Mk S < B < e T OBRMC | BRER | BR¥R | KRR
s % s % 3 % 3 % S % 73 %
HE= 5H31H 1 2 0 0 6 12 32 64 0 0 1 ollv—7v x5 21z
7 H 5H29H 2 4 0 0 0 0 3 6 0 0 0 ollv— =21
VeI 6H2H 2 4 0 0 0 0 3 6 0 0 0 Ol —F =2 — sl
¥ M 6H2H 2 4 3 6 1 2 7 14 0 0 0 Opv—F> A~ — MRl
W Bl 6H13H 2 4 0 0 0 0 11 22 0 0 0 Ol =2l
oo 6H5H 17 34 0 0 0 0 0 0 0 0 0 Ollv—Fv =% 2~ MR
CI 6H5H 2 4 0 0 0 0 0 0 10 20 6 12\ —F zen -1k
A 5H29H 0 0 0 0 3 6 0 0 3 6 6 12|[p—Fv = 21z
VAN 6H6H 3 6 0 0 0 0 0 0 3 6 0 Ollv—Fv =% 2"~ MRl
= 31 3 10 56 16 13
S 3.4 6.9 0.3 0.7 1.1 2.2 6.2 12.4 1.8 3.6 1.4 2.9

A

i



(F A B IR A5

[ 7HEE KE BRERFLEKRFAER N.3)
R4 - NS
FHAEHH 5 4 B (5f 74 8 H27H)
g E L (10 #R) FTLVEDY  (EESEIEY . 7272 L A LA TEIXI0EED )
A AT A X 4 gﬁ%% DA/ EARE tonm KA | A/l EARE ton KEA | B AL %’gﬁj}’@%ﬁﬁﬁ%ﬁ
B | B | BE R | Sh | BE | Rk B | BE Rk | B | BRI R Sh | R Rk B | BE | Rk | g | BE | R | S| BE | Rk B | B
i} i i 9 5 5 5 B |
[l 5H31H o, o 0 o0 o o0 6 12/ 18 0 o0 of of o] o0 11 364 375 4| 39| 43 0| 0| 0] 2| 0 2fFEa -k
% H 5H29H of o o o o of 1| 3 4 o o of o o of o] 17 17| 1| 73 74 0/ 0f 0 1| 2| 3[p-Frra—iukHl
[EpE 6H2H o ol o 1 o 1| 1| 3 4 o of of o o o o 2 2/ 6 11| 170 0 0 0 0 0  Ofp—FrEr-tski
iy 6H2H of o o 1 1 2 o o of o o of o o of of 13 13 1| 5 6 0 0 0| 0] 0 Ofp—Frran—iukl
G 6H13H of ol of o 2 2 of 1 1 o o of o of of 1 1 2 1| ol 1 0] 0 0 0 0| Ofp—Fr=rra-ikl
w5 6H5H o0 of of o 1 1 0o o o o o of of o of 1 4/ 5 0 0o 0 0 0 0 0 0] Ofp-FrEra— kLA
I 6H5H o o of o o o 1 2 3 o o of o o o 2 2/ 4 o o o o of o o0 0 oOfp-Fmr i
S 5H29H o of of o o o o o o o o of of o of 2 7 9 0 o0 0 0 0 0 0 0] Ofp-FreEan— ik
e B 6H6H o0 ol o o o o 2/ o 2 o of of o o o o0 o0 0 0 of 0 0 0 0 0 0 Ofp—Frmra—tskH
5 of o o 2 4 6 11| 21| 32| 0o 0 of o 0f o0 17410 427| 13128 141 o o o] 3] 2| 5
NI, 0.0[0.0[0.0[ 0.2/ 0.4/ 0.7/ 1.2/ 2.3/ 3.6/ 0.0[0.0]0.0][0.0] 0.0] 0.0| 1.945.6/47.4| 1. 4|14.2]15.7/ 0.0| 0.0| 0.0/ 0.3/ 0.2/ 0.6

Uk




